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9.7: Speical Right Triangles

MEMORIZE THEM!
Note Title 2/23/2015

1 Find the two missing sides in each 30°-60°-90° triangle. Try to do
the calculations in your hea

30760 ’qo

/
a x| xI3_|2x - 133
/| /73//735/344 T
1?3

2 Find the two missing sides of each triangle. (Hint: These are a bit
harder, and you may want to put x, x\/&, and 2x on the proper
sides as shown in the sample problems.)

30 Lo 90 ﬁ&xﬂf

b
g 60 15( X xrg % 5
) . =z
30 ér _gg

3 Solve for the variable in each of these equilateral triangles.
_/_\
=4S > 180 - .
=5 ° 60

30 60 90
> x[3

3

IF2x =26
= -}THEMX= 13
26

— 4 Solve for the variable in each of these 45°-45°-90° triangles.
45— 45-90__ pouamond:

XXM v mea 2
41 '{ﬁm} FA D

X x =8& (8R4
o 2
10 a Find the ratio of the longer leg to the hypotenuse in a
30°-60°-90° triangle.
b Find the ratio of one of the legs to the hypotenuse in a
45°-45°-90° triangle.
> | w
ong {3 |3
Q. 30 o 90 —J—ﬂ:a——=—
x (5
* X 3z 2d p
*{3

o5 d4s o bg % 1A g
xﬁ_ 'S X XE h,:jP '*E_\{Zﬁ 2

Nz
b

X

13 a Find the coordinates of D. C'.'S

b Find the slope of ﬁ A—g-i etz y-axis (,' 1)
¢ Find the tangenzptl)’f :;S". &= |
+on/ = —— =
ADI LEG 5° (1,0
o . D¢ 1 _ 0 (0, 0) x-axis
fands” = ‘T'l —~
AX= |

Assignment: 9.7: 405/1-10, 12 and Chapter review, p 429, 1-16







